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Ptolemy could think of only one 
explanation – he thought that each planet 
must move in its own circle as it went 
around the Earth. He called these circles 
EPICYCLES. 

Many centuries later, Isaac Newton 
realised that gravity was needed to make 
objects like the Moon travel in orbit 
around the Earth. 
 

Question: If Newton was right, what was 
the problem with Ptolemy’s idea, even 
though he looks like a pretty clever bloke 
in the picture?
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Question: Was Copernicus right – does the graph show that Mars goes backwards at some 
point? Looking at the worksheet again, is it really going backwards? What is really 
happening? (Think of it like runners staying in their lanes on an athletics track - an inside 
runner would see an outside one in front, then alongside and then behind as they overtook 
them. Pretty obvious if you could see a bird’s eye view of the Solar System)
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Question: How does Newton’s theory of gravity explain why the Sun must be at the centre of 
the Solar System with ALL the planets orbiting it? What is significant about the Sun’s mass 
compared to the planets?





•

•

•

http://www.stellarium.org/

